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ES-401

Form ES-401-9

FACILITY: Cooper
EXAM DATE: RO Written Retake ONLY/ March 2001
CHIEF EXAMINER: T. McKernon
REVIEWER: RE LANTZ

1. 2. 3. Psychometric Flaws 4. Job Content Flaws 5. 6.
Q# | LOK | LOD
(F/H) | (1-5) | Stem |Cues| T/F | Cred. |Partial [ Job- |Minutia | #/ | Back- [U/E/S Explanation
Focus Dist. Link units | ward
1 F 2 X X E Don’t understand Q and A’s with reference... discuss KAOK
2 F 2 S
3 H 2 S KAOK
4 H 2 S
5 H 2 S KAOK
6 H 3 S [Could b be correct?
7 F 4 X S Handout is not req’d as given... is answer expected from memory?
8 H 3 S Why would APRM downscale lights be turned off?
9 H 3 S |editorial... change a to d for distd KAOK
10 F 2 S
11 H 3 S
12 H 3 S
13 H 2 S Is table 7 provided in the EOPs, or blanked? Is table 7 req’'d from memory?
14 H 3 S ensure vs insure ina KAOK
15 H 2 S
16 H 3 S
17 F 4 S
18 F 2 S KAOK
19 F 4 S KAOK
20 F 4 S
21 H 3 S
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1. 2. 3. Psychometric Flaws 4. Job Content Flaws 5. 6.
Q# | LOK | LOD
(F/H) | (1-5) | Stem |Cues| T/F | Cred. |Partial [ Job- |Minutia | #/ | Back- [U/E/S Explanation
Focus Dist. Link units | ward
22 F 2 S KAOK
23 H 4 S
24 | H 3 s KAOK
25 H 3 S
26 H 4 S
27 H 3 X E ref. Says s/d per 2.1.5, is this same as SCRAM? Change a to “lost and cannot be
restored within 2 wks. KAOK
28 H 4 S
29 F 3 S KAOK
30 H 3 X E edit typo in stem, add only to b and ¢
31 H 3 S
32 F 4 S
33 H 4 S
34 F 2 S
35 F 2 S
36 H 3 S KAOK
37 H 3 S
38 H 3 S
39 H 3 X E stem somewhat confusing, revise to say... Following completion of las for Recirc Pump
trip, ...
40 H 3 S
41 H 2 S KAOK
42 F 3 S KAOK
43 H 2 S
44 F 3 S
45 H 4 E Cannot handout training material, must use plant drawing/ approved procedure
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1. 2. 3. Psychometric Flaws 4. Job Content Flaws 5. 6.
Q# | LOK | LOD
(F/H) | (1-5) | Stem |Cues| T/F | Cred. |Partial [ Job- |Minutia | #/ | Back- [U/E/S Explanation
Focus Dist. Link units | ward
46 H 3 S
47 H 2 S KAOK
48 H 3 S
49 F 3 S KAOK
50 H 4 S
51 H 3 S
52 H 3 S
53 H 3 S
54 H 2 S
55 H 2 S
56 F 2 S
57 H 3 S
58 H 3 S
59 H 3 S KAOK
60 F 3 X E d must be correct. Consider rewording to make only one correct answer. KAOK
61 H 3 S KAOK
62 H 3 X E delete reasons given (GRP 6 isIns)in distractors.
63 F 3 S
64 F 4 S
65 H 3 S KAOK
66 F 3 S
67 H 3 S
68 H 3 X X X E Answer cued, different than other responses KAOK
69 H 2 S
70 H 3 S
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1. 2. 3. Psychometric Flaws 4. Job Content Flaws 5. 6.
Q# | LOK | LOD
(F/H) | (1-5) | Stem |Cues| T/F | Cred. |Partial [ Job- |Minutia | #/ | Back- [U/E/S Explanation
Focus Dist. Link units | ward
71 F 3 X S
72 H 3 S d - change ‘must’ to ‘should’
73 F 3 S KAOK
74 H 3 S KAOK
75 F 3 S
76 F 3 S
77 F 3 S
78 F 3 S
79 H 3 S
80 F 2 S
81 F 2 S
82 F 3 E |C- change ‘rises’ to ‘remains’ KAOK
83 H 3 X S c - delete “only”
84 H 3 S KAOK
85 F 2 E check answer, looks like d is correct
86 H 3 S
87 H 3 S
88 F 2 S KAOK
89 F 2 S
90 H 3 X E |give date/time of discoverty
91 F 2 S |edit a - use of ladder “to be” accessible KAOK
92 F 3 S KAOK
93 F 2 X E C looks correct, not d
94 F 2 S
95 F 2 S
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1. 2. 3. Psychometric Flaws 4. Job Content Flaws 5. 6.
Q# | LOK | LOD
(F/H) | (1-5) | Stem |Cues| T/F | Cred. |Partial [ Job- |Minutia | #/ | Back- [U/E/S Explanation
Focus Dist. Link units | ward
96 F 2 S KAOK
97 H 2 S
98 F 2 S
99 H 2 S
100 F 2 S Group 4/5 difference required from memory??? KAOK
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